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DETAILED EXPL ANATIONS

5.5.5.5.5. (d)(d)(d)(d)(d)
The hot chamber process is used for most of the low melting temperature alloys, such as zinc, lead
and tin.

6.6.6.6.6. (c)(c)(c)(c)(c)
Strength of the part after compaction is called green strength.

7.7.7.7.7. (b)(b)(b)(b)(b)
Converging passages or sprues are provided to avoid aspiration effect. Air entrapped due to aspiration
causes blow holes in castings.

9.9.9.9.9. (a)(a)(a)(a)(a)
Gating ratio is ratio  of cross-sectional area of sprue : runner : gates

10.10.10.10.10. (d)(d)(d)(d)(d)
Converging passages are used as spures to gain in velocity of molten metal as it reduces airaspiration.

12.12.12.12.12. (d)(d)(d)(d)(d)
Hot chamber die casting is suitable to cast materials which has low melting point. This method is used to
cast the alloys of lead, tin and zinc.
This method can also be used for casting Aluminium alloys because the material has a tendency to pick up
some iron due to extended contact with the casting equipment.

14.14.14.14.14. (d)(d)(d)(d)(d)
Surface area of cube = 6l2

Surface area of sphere = 4 π r2

According to Chorinov’s relation

Solidification time ∝ 
2volume
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16.16.16.16.16. (c)(c)(c)(c)(c)
V =  L B t
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for slab, L >> t and B >> t,

∴
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20.20.20.20.20. (c)(c)(c)(c)(c)
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21.21.21.21.21. (a)(a)(a)(a)(a)

Bottom gate, tA =
2
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where, A → area of mould
Ag = area of gate
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22.22.22.22.22. (a)(a)(a)(a)(a)
d = 200 mm

∴ r = 100 mm = 0.1 m

Solidification time =
2vk
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23.23.23.23.23. (d)(d)(d)(d)(d)
Aluminium, wax and mercury can be used for making patterns.


